Analytical Methods in Engineering (EE300) Final PartI 30-5-2005 21-4-1426

Fill the blanks ONLY.
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It is given that x,y,z are linearly dependent
ab,c,p,r,m,n are all nonzero elements.
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Write True or False .

a) det A = a° p

b) detB = &’ E

) detA=0 W

d) det B=0 AT
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g) Rank A=3 E

h) Rank A= RankB ___ | __

8) Itis giventhat < (a+bi)=20°
( < means angle )
calculate the angle of the following numbers
(write the results in degrees )

a) <2(a+bi)= Zx20 =4 O
b) <(—a+bi)=19%0 _10= (6%
Q) <(@-bi)y= — L9

d < (—a-bi)= (§otlo=100

© <(@t+bi)= 3« 1o=60
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9)Itis given that qe” =3 +2i



10)Find the magnitude of the following numbers
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12) Complete the following formulas
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13) sinh 2 = 3.62, S

14) Maclauren series expansion of flz)=e**! is
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15) It is given that sin © =2. Write True or False
a) © is a real number and 90%>6>180° Fals&

b) ©is areal number and 180°6>360° §ol $€
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16) Calculate the following integrals where paths
are shown in the graphs.

c) ©isa complex number.
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17) State True or False (paths are shown above in)
§ 23 + 22 +Z
gs 2+ B2 -9)

§ 2> +z2+z
o6 @2 +4)(z% -4)

18)A dynamic system has the linear differential

equation O=AQ, Qis a vector A is a matrix. This
system has the following response.
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write True or False

b)This system has one real one complex eigenvalues F
a)This system has complex eigenvalues ~T~

c)Real part of one eigenvalue is greater than zero—y-
d)Real part of all eigenvalues are less than zero f_‘

€) Il,irn q@®)=0 F
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